
Monday Tuesday Wednesday Thursday Friday 
72 ÷ 6= 
 
7200 ÷ 60 = 
 
720 ÷ 6 = 
 
Calculate 7.2 x 100 = 
 
 
Calculate 720 ÷1000 = 
 
 
product of 30 and 6 
 
What is the value of the 
8 in this number?        
874,256 
 
 
Round 47,905 to the 
nearest thousand. 
 
 
 
Write 555 in Roman 
Numerals  
      
 

24 ÷ 6= 
 
2400 ÷ 60 = 
 
240  ÷ 6 = 
 
Calculate 240 x 10 = 
 
 
Calculate 240 ÷1000 = 
 
 
product of 50 and 6 
 
What is the value of the 
7 in this number?        
874,256 
 
 

Round 47,905 to the 
nearest ten. 
 
 
 

 
Write 1555 in Roman 
Numerals  
 
 
 

54 ÷ 6 = 
 
5400 ÷ 60 = 
 
540 ÷ 6 = 
 
Calculate 50.4 x 10 = 
 
 
Calculate 504 ÷10 = 
 
 
product of 11 and 6 
 
What is the value of the 
4 in this number?        
874,256 
 
 

Round 47,905 to the 
nearest hundred. 
 

 
 
 
Write 1755 in Roman 
Numerals  
 
 

48 ÷ 6 = 
 
4800 ÷ 60 = 
 
480 ÷ 6 = 
 
Calculate 4.8 x 1000 = 
 
 
Calculate 480 ÷1000 = 
 
 
product of 15 and 6 
 
What is the value of the 
5 in this number?        
874,256 
 
 

Round 47,905 to the 
nearest ten thousand. 
 
 
 

 
Write 1855 in Roman 
Numerals 
 
 

30 ÷ 6 = 
 
3000 ÷ 60 = 
 
300 ÷ 6 = 
 
Calculate 30.2 x 10 = 
 
 
Calculate 320 ÷100 = 
 
 
product of 200 and 6 
 
What is the value of the 
2 in this number?        
874,256 
 
 

Round 347,905 to the 
nearest hundred 
thousand. 
 
 
 
Write 1955 in Roman 
Numerals?  
 
 



Calculate the area 
 
6cm 

 
              9cm 
 

 
Is 2100 a multiple of 50?  
 
 
What are the factors of 
21? 
 
 
Double 28  
 
 
50mm = ________cm 
 
 
What temperature is 15 
degrees less than 4 
degrees Celsius? 
 
 
 
 

Calculate the area 
 
6cm 

 
              6cm 
 
 

Is 5005 a multiple of 25? 
 
 
What are the factors of 
50? 
 
 
Double 56  
 
 
2.5cm = _________mm 
 
 
What temperature is 14 
degrees more than -3 
degrees Celsius? 
 
 

Calculate the perimeter 
 
3cm 

 
              6cm 
 
 

Is 75 a multiple of 3? 
 
 
What are the factors of 
15? 
 
 
Double 37  
 
 
200cm = __________m 
 
 
What temperature is 15 
degrees less than 2 
degrees Celsius? 
 
 

Calculate the area 
 
4cm 

 
              6cm 
 
 

Is 64 a multiple of 4? 
 
 
What are the factors of 
18? 
 
 
Double 49  
 
 
5.5m = ___________cm 
 
 
What temperature is 16 
degrees more than -7 
degrees Celsius? 
 
 

Calculate the perimeter 
 
6.5cm 

 
              6cm 
 
 

Is 660 a multiple of 60? 
 
 
What are the factors of 
16? 
 
 
Double 16  
 
 
5km = __________m 
 
 
What temperature is 12 
degrees less than 
7degrees Celsius? 
 
 

Total            /15 Total            /15 Total            /15 Total            /15 Total            /15 
 


